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Unit Question Paper

Science (Physics and Chemistry), X Class

Units Covered- 

· UNIT 1: Reflection & Refraction

· UNIT 2: Human Eye
· UNIT 3: Carbon and its Compounds

· UNIT 4: Periodic classification of Metals

UNIT 1: Reflection & Refraction

M.C.Q. (1 mark each)

Q1.A mirror and thin lens each have f= -25cm. The mirror and lens are

A. Both concave

B. Mirror concave , lens convex

C. Mirror convex , lens concave

D. Both convex

Q2: The image formed is always erect. The mirror is 

A. Plane

B. Concave

C. Convex

D. Plane or convex

Q3. Light travels faster in

A. Vacuum

B. Glass

C. Air

D. Diamond

Q4. Power of lens of focal length -25 cm is

A. 4D

B. -4D

C. 1/4D

D. -1/4 D

Q5. Angle of incidence of ray passing through center of curvature of mirror is

A. 90

B. 180

C. 0

D. 45

1 Mark Questions

Q6. Define diopter

Q7. What is refraction of light?

2 Mark Questions

Q8. Give any 5 characteristics of image formed by a plane mirror

Q9. What is refractive index of a medium? If refractive index of glass is 1.6 and refractive index of diamond is 2.4. What is the refractive index of diamond with respect to glass?

Q10. Calculate the distance at which an object should be placed in front of a thin convex lens of focal length 10 cm to obtain the virtual image of Double size?

Q11. How can you find rough focal length of a convex lens?

Q12. What type of a mirror is used as a reflector in street lamps? Why?

3 Mark Questions

Q13. Why does an ink dot appear to be raised when viewed through a glass slab? [given  aµg = 3/2]

Q14. What are the conditions for no refraction?

5 Mark Questions

Q15. Draw ray diagram to show image formation when object is placed

a. Between C and F

b. At 2 F

In front of a convex lens

Q16. Explain refraction through rectangular glass slab.

What is lateral displacement?

UNIT: Human Eye

M.C.Q. (1 mark each)

Q1. The screen of human eye is 

A. Cornea

B. Pupil

C. Iris

D. Retina

Q2. Eye lens is

A. Double convex

B. Double concave

C. Plano convex

D. Plano concave

Q3. For which color is the refractive index of glass maximum

A. red

B. violet

C. green

D. yellow

Q4. When ciliary muscles are relaxed, focal length of eye lens is

A. maximum

B. minimum

C. neither maximum nor minimum

D. cannot say

Q5. Scattering involves

A. reflection

B. refraction

C. change in direction of light

D. diffraction

1 Mark Questions

Q6. What is persistence of vision?

Q7. What is meant by the accommodation eye? How is it achieved?

Q8. What is scattering of light? How is the intensity “I” of scattered light related to wavelength “λ” of incident light?

Q9. What is color blindness?

3 Mark Questions

Q10. A myopic person uses specs of power -2D. What is the distance of his far point?

Q11. What causes twinkling of stars? Explain

Q12. Why red color is used in danger signals?

Q13. The near point of a person is 50 cm. What should he do to read a newspaper from a distance of 25 cm?

5 Mark Questions

Q14. What is dispersion of light and why is it caused

Q15. What is hypermetropia? How can it be corrected . Give the focal length of lens which is used for correction

UNIT: Carbon and its Compounds

M.C.Q. (1 mark each)

Q1. Which of these is not saturated hydrocarbon?

A. Cyclohexane

B. Hexane 

C. Iso butane

D. Benzene

Q2. Wine contains

A. C6H5OH

B. C2H5OH

C. CH3OH

D. C3H7OH

Q3.Which of the following shows isomerism

A. C2H6

B. C2H4

C. C4H10

D. C3H6

Q4.Which of the salts makes water hard

A. Calcium sulphate 

B. Magnesium bicarbonate

C. Calcium chloride

D. Any of the above

Q5.The reaction 2C2H5-OH + 2Na - > 2C2H5ONa+ H2 

Suggests that ethanol is 

A. Acidic

B. Basic

C. Neutral

D. Amphoteric

2 Mark Questions

Q6. Why can carbon not form ionic compounds easily?

Q7. Explain divalency of O2 and is lone pair

Q8.  Give two important differences between diamond and graphite

Q9. What is denatured alcohol?

3 Mark Questions

Q10. What is structural isomerism? Explain with examples

Q11. Which hydrocarbon, saturated or unsaturated are more likely to give a sooty flame and why?

Q12. What is catalytic hydrogenation and in which industry is it used?

Q13. What are the characteristics of a homologus series?

5 Mark Questions

Q14. How can you distinguish between an alcohol and carboxylic acid experimentally?

Q15.  What is scum? How is it formed?

Q16. Explain the following terms

1. Esterification

2. Dehydration

Q17.Explain the cleaning action of soap and detergents

UNIT: Periodic classification of Metals

M.C.Q. (1 mark each)

Q1.The atomic mass of first and third element of Dobereiner’s trais are 35.5 and 127, what is the expected atomic mass of the middle element

A. 80 

B. 40

C. 137

D. 23

Q2. Which of the following combination of elements belong to the same group?

A. Cu, Ag, Au 

B. Li, Be, Al

C. Na, Mg, Al

D. O,S,Cl

Q3. Which of the following is most electronegative?

A. C

B. N

C. O

D. F

Q4.The oxide of which of these elements is not acidic?

A. Cl

B. S

C. N

D. Li

Q5.Highly metallic element will have the configuration

A. 2,8,7

B. 2,8,8,5

C. 2,8,8,1

D. 2,8,2

2 Mark Questions

Q6. What was the main limitation of Dobereiner triad?

Q7. Why is hydrogen called rogue element?

Q8. Why are calcium, strontium and barium called alkaline earth elements?

Q9. Write the name of three isotopes of carbon. How do they differ from one another?

Q10. An element X (2, 8, 3) combine with Cl- , (SO4)2- and (PO4)3- radicals. Identify X and write the formula of the compounds formed with the radicals

3 Mark Questions

Q11. Was Mendeleev idea of leaving gaps in the periodic table justified?

Q12. Out of the elements of 2nd period , which has the smallest and which one has the largest size(Not considering the noble gases)

Q13. Explain the variation in metallic character of elements along 1) a period and 2) in going down a group
Q14. Elements A, B,C,D  have electronic configuration as A(2,1) B (2,8) C (2,8,1) and D (2,8,8)

Answer the following:

a. Which element belongs to the same group

b. Which elements belongs to the same period 

c. Which belong to 18th group

d. Which out of A& C is more reactive and why

e. Which out of A& B forms more compounds
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